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Choose the correct answer .

1. The order of the matrix [1 2 3] is

@11 () 3" 3 (©31 (d1 3
2. A matrix in which the number of rows is not equal to the number of columnsiscaled a
(a) diagonal matrix (b) rectangular matrix  (C) square matrix (d) scalar matrix
3. A matrix withasinglerow iscadled a
(8 column matrix (b) row matrix (©) null matrix (d) identity matrix
4. A square matrix all of whose € ements except the main diagonal are zerosis called a
(& null matrix (b) singular matrix (¢) symmetric matrix  (d) diagonal matrix
5. Let A=[a;] beasquarematrix of order n. If a; =0fordli* janda; =1forali = j,thenAis
(a) scdar matrix (b) identity matrix (©) null matrix (d) symmetric matrix
6. A square matrix A for which A' = A iscdleda
(8 column matrix (b) symmetric matrix  (c) row matrix (d) skew-symmetric matrix

®
7. A square matrix A with complex entries for which (A)' =- A iscalled
(8 symmetric matrix  (b) identity matrix (c) hermitian matrix  (d) skew-hermitian matrix
8. Iforderof Aism™ n andorder of Bis n° p thenorder of AB is

@ m m (b) n° n (@m p d p m
clu
—&u t -
9. If A= (Sgu then order of A’ is
€34

@1 3 (b) 3" 3 (031 @11
10. Thetranspose of arectangular matrix isa

(a) square matrix (b) rectangular matrix  (c) row matrix (d) column matrix
11. If Aisany matrix then its additiveinverseis

@A (b) A (© A d - A

él 2 3u

e a.
12. gO 5 60 isa

0 0 74

(a) diagonal matrix (b) scalar matrix (c) triangular matrix  (d) identity matrix

é3 0 Ou

é ua .
13. éO 13 Ou isa

go 0 13§

(a) diagonal matrix (b) scalar matrix () triangular matrix  (d) identity matrix

z

_é 2 _
14. If A= & 4 then |A| =
@0 (b1 (9 -2 (d) 10

k
15. If =0 thenk =
.

(@ 4 (b) 0 (0 16 (d) none of these
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If A isanon singular matrix then A™* =

1 adA | Al 1
- by —— Q) ——
@ | Al ®) | Al © adA @ AadjA
If A and B are non singular matrices then (AB) ™' =
@ A’ (b) B (9 A'B* (d) B*A™*
The number of non zero rows in echelon form of a matrix is called
(a) order of matrix (b) rank of matrix (c) row operation (d) none of these
Matrices are represented by
(& natural numbers (b) red numbers (c) smal letters (d) capita letters
If order of ais m~ n, then order of A is
@ m m (b) n" N (©m n dn m
If the matrices A and B are conformable for multiplicationthen (AB)" =
(@) AB (b) A'B' (o B'A' (d) A'B
- VI
If the matrix g q issingular then | =
e 2
@2 (b) 6 (94 (d)8
Minor of an element &; isdenoted by
@ M, (b) A (© A (d) none of these
Cofactor of an element &; is defined by
@ (D" A (b) (- M, ©-pm (d) none of these
1 a b+c
1 b c+a=
1 ¢ a+b
(a) atb+c (b) O (01 (d) none of these
O 1 30
_€ a -
If A_go 2 4@ then |A| =
0 3 54
(@0 (b) 1 (9 10 (d-1
Two matrices are said to be conformabl e for the addition if they have the same
(& rank (b) order (c) both of above (d) none of these
If A and B are two matrices then whichis true
(8 AB=BA (b) A-B=B- A (o) A+B=B+A (d) dl of these
Theinverse of the matrix exist only if the matrix is
(a) rectangular matrix  (b) square matrix (c) row matrix (d) column matrix
(A+A") =
@ A+A (b) A"+ A © - (A+A) (d (A+A)
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